
 

Non-Standard Partitioning 

3-Digit Numbers 
 Partition 356 into different forms. 

 

      hundreds      tens          ones  
 

 

  
 

 

____________      + ____________      + ____________      = 
 

_______________ 

 

 

________________      + ________________      = 
 

________________ 

 

 

________________      + ________________      = 
 

________________ 

Two ten-blocks have been traded to the tens. Fill in the missing numbers. 

     

  3 hundreds + ____ tens + ____ ones = 
 

356 

  ___________ + ___________ + 26 = 
 

356 
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356 


